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SBI Clerk Prelims Previous Year Mock 2018 
 

 
 

 
Direction (1 – 3): Read the information carefully and 
answer the questions: 
 

A company ABC printed different number of books in 
different years 1947, 1956, 1987, 1998, 2002 such that 
number of books printed are not same in any year. 66 
books were printed in an odd numbered year which is not 
1947.The number of books printed in 1947 is 10 less than 
that printed in 1987. 59 books were printed in an year 
before the year in which 61 books are printed but not 
immediate before. The number of books printed in 2002 
is 2 more than that printed in 1998. 
 

1. How many books were printed in 1947? 
 (a) 56 (b) 66 (c) 63 
 (d) 61 (e) none of these 
 

2. What is the difference between the number of books 
printed in 1956 and 2002? 

 (a) 7 (b) 10 (c) 8 
 (d) 4 (e) none of these 
 

3. In how many years the number of books printed are 
more than that printed in 1998? 

 (a) two (b) one (c) none 
 (d) three (e) four 
 

4. How many words can be formed from the 1st, 6th, 8th 
and 9th letter of a word ‘EMANICIPATE’ by using each 
letter once in the word? 

 (a) two  (b) one (c) none 
 (d) three (e) more than three 
 

5. If all the letters in the word FIGURES are arranged in 
alphabetical order from left to right in such a way that 
vowels are arranged first followed by consonants, 
then how many letters are there in between U and R 
after the arrangement? 

 (a) two (b) one (c) none 
 (d) three (e) four 
 

6. If in the number 39682147, 1 is added to each of the 
digit which is less than five and 1 is subtracted from 
each of the digit which is greater than five then how 
many digits are repeating in the number thus formed? 

 (a) two (b) one (c) none 
 (d) three (e) four 
 

Direction (7 – 8): Read the information given below and 
answer the questions. 
All the given members belong to the same the family. J is 
the brother of L. J is the only son of R. W is the father-in-

law of L. D is the maternal grandfather of P, who is a male. 
Q is the only son of W. W is the grandfather of N and C is 
the daughter of N.  
 

7. How L is related to C? 

 (a) Mother (b) Son (c) Brother 

 (d) Father (e) None of these 
 

8. How is P related to N? 

 (a) Mother (b) Son (c) Brother 

 (d) Father (e) None of these 
 

Direction (9 – 11): Read the information carefully and 

answer the question: 

Point U is 10m north of point Q. Point T is 10m east of 

point U. Point S is 15m south of point T. Point P is 20m 

south of point Q. Point R is 25m east of point P. Point L is 
15m east of point S. Point M is the midpoint of point U and 

P.  
 

9. What is the distance between point L and R? 

 (a) 10m (b) 15m (c) 5m 

 (d) 20m (e) 25m 
 

10. In which direction is point T with respect to P? 

 (a) north-west  

 (b) south-west  
 (c) south-east 

 (d) north-east 

 (e) none of these 
 

11. Which of the following points are inline? 

 (a) P, R, S (b) Q, M, L (c) U, S, T 

 (d) M, S, L (e) Q, S, L 
 

Directions (12–16): Read the following information 

carefully and answer the given questions. 

Twelve persons sitting in two rows. D, E, F, K, L and M 

sitting in row-1 and facing north. S, T, U, X, Y and Z sitting 

in row-2 and facing south direction. E sits third from one 

of the extreme ends. S sits second to the left of the one 

who faces E. Only three persons sit between S and T. K sits 

somewhere right of M. More than three persons sit 

between X and T. F faces one of the immediate neighbours 
of T. Z sits second to the right of Y. The one who faces L 

sits third to the left of U. D faces S.  
 

12. Who among the following faces K? 

 (a) T (b) S (c) X 

 (d) Y (e) none of these 
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13. Who among the following faces the immediate 

neighbor of M? 

 (a) Z (b) K  (c) D 

 (d) L (e) None of these 
 

14. Four of the following five from a group, which among 

the following does not belong to this group? 

 (a) T, E (b) U, D (c) Y, L 

 (d) Z, E (e) Z, K 
 

15. Who among the following faces the one who sit to the 

immediate left of Y? 

 (a) U (b) D (c) X 

 (d) Z (e) none of these 
 

16. How many persons sit between M and D? 

 (a) one (b) two (c) three 

 (d) five (e) four 
 

Direction (17): Five people A, B, X, Y, and Z live on five 

different floors of a building (such as ground floor 

numbered as 1 and top is numbered as 6). There are three 

floors between A and B. X lives one of the floors above Y.  
 

17. Who among the following lives on third floor? 

 (a) B (b) A (c) X 

 (d) Z  (e) Cannot be determined 
 

18. Which of the following elements should come in a 
place ‘?’ ? 

 AB3 CE6 FI10 JN15 ? 

 (a) OT20 (b) TO21 (c) OT21 

 (d) TS21 (e) None of these 
 

Directions (19–21): Each of the questions below consists 

of a question and two statements numbered I and II given 
below it. You have to decide whether the data provided in 

the statement are sufficient to answer the question. Read 

both the statements and 

Given answer: 
(a) If the data in statement I alone are sufficient to 

answer the question, while the data in statement II 

alone are not sufficient to answer the question. 

(b) If the data in statement II alone are sufficient to 

answer the question, while the data in statement I 

alone are not sufficient to answer the question. 

(c) If the data either in statement I alone or in statement 

II alone are sufficient to answer the question. 

(d) If the data even in both statements I and II together 

are not sufficient to answer the question. 
(e) If the data in both statement I and II together are 

necessary to answer the question. 
 

19. Who sits immediate to the left of Ravi, who is sitting 

in row. All the persons who are sitting in a row facing 

north direction? 

I. There are only two persons sit between Sahil and 
Geeta. More than three persons sit to the left of 

Geeta. 

II. Not more than 8 persons can sit in a row. Ravi sits 
second to the left of Sahil. Diya sits 6 places away 

from Geeta. 
 

20. What is the code of ‘right’ in a certain code language? 

I.  The code of ‘every right to reject’ is ‘%47 *32 $53 

*95’, 
II.  The code of ‘never reject right turn’ is ‘%62 %47 

$51 *32’. 
 

21. Find the number of boys and number of girls in the 

row? 

I. R sits 18th from left end of the row and Y sits 11th 
from the right end of the row. R and Y interchange 

their positions, after interchanging the position 

R’s position is 20th from left end.  
II. Total 43 students are in the row and all are facing 

is same direction.  
 

Directions (22–26): Study the following arrangement 

carefully and answer the questions given below: 

B 5 R 1 @ E K 4 F 7 © D A M 2 P 3 % 9 H I W 8 * 6 U J $ 
V Q # 
 

22. Which of the following is the fifth to the left of the 

seventeenth from the left end of the above 
arrangement? 

 (a) D (b) W (c) * 

 (d) 4  (e) None of these 
 

23. Which of the following is exactly in the middle 
between D and U in the above arrangement? 

 (a) % (b) H (c) 9 

 (d) 3 (e) None of these 
 

24. Four of the following five are alike in a certain way 

based on their position in the above arrangement and 
so form a group. Which is the one that does not 
belong to that group? 

 (a) R1E (b) F7D (c) M23 

 (d) 9HW (e) UJ6 
 

25. How many such symbols are there in the above 

arrangement each of which is immediately preceded 

by a number but not immediately followed by a 

consonant? 
 (a) None (b) One (c) Two 

 (d) Three (e) More than three 
 

26. Which of the following is the tenth to the left end of 
the thirteenth from the right end? 

 (a) F  (b) M  (c) @ 

 (d) %  (e) 3 
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Direction (27–28): Read the information carefully and 
answer the questions: 
 

Eight persons A, B, C, D, E, F, G, H are sitting around a 
circular table facing centre. H faces B. Two persons sit 
between F and B. E sits 2nd right to D. F sits 2nd right to C, 
who is one of the immediate neighbors of G. C is not an 
immediate neighbor of B. 
 

27. Who among the following sits 3rd left to F? 
 (a) D (b) C (c) B 
 (d) A (e) none of these 
 

28. Who among the following faces A? 
 (a) D (b) C (c) B 
 (d) G (e) none of these 
 

Directions (29-30): Study the following information 
carefully and answer the given questions. 
 In a certain code language, 
‘good key friends’ is coded as ‘xo pe cm’ 
‘key law found’ is coded as ‘xo og bt’ 
‘data key good’ is coded as ‘tu xo pe’ 
 

29. Which of the following is the code for ‘good’? 
 (a) xo (b) pe (c) tu 
 (d) cm (e) None of these 
 

30. Which of the following word is coded as ‘og’? 
 (a) law (b) good (c) found 
 (d) Either (a) or (c) (e) key 
 

Directions (31-35): The following questions are based 
on the six three digits numbers given below: 
563 218 732 491 929  

31. If 2 is subtracted from the second digit of all odd 
numbers and 2 is added in the first digit of all even 
numbers, then which number is lowest number after 
the arrangement? 

 (a) 218 (b) 732 (c) 491 
 (d) 929 (e) None of these  
 

32. If third digit of highest number is divided by the first 
digit of lowest number, then what will be the 
resultant? 

 (a) 4 (b) 6  (c) 4.5 
 (d) 5  (e) None of these 
 

33. If all the digits in each number are arranged in 
increasing order, then which number will be the 
highest number after the rearrangement? 

 (a) 218 (b) 732 (c) 491 
 (d) 563 (e) None of these 
 

34. How many numbers will be there in the given series 

in which addition of first and third digit is greater 

than second digit? 

 (a) One (b) Two (c) Three 

 (d) Four (e) None of these 
 

35. How many numbers will be there in the given series 

in which difference of first and third digit is greater 

than second digit? 

 (a) One (b) Two (c) Three 

 (d) Four (e) None of these 

 

 
 

 
36. Value A is three times of value B. If value of C is 62.5% 

of difference between value of A and B, then value C is 
what percent of B? 

 (a) 120% (b) 125% (c) 115% 
 (d) 110% (e) 105% 
 

37. A is 40% more efficient than B and both can complete 
a work in 20 days. A and B start work and do it for 
eight day. If remaining work is complete by C in 24 
days, then find in how many days C will complete 
work alone? 

 (a) 30 days (b) 24 day (c) 20 days 

 (d) 16 days (e) 40 days 
 

38. The length of rectangle is thrice the side of square. 

Difference between perimeter of rectangle and square 

is 40 cm. If breadth of rectangle is 8 cm, then find area 

of square? 

 (a) 169 cm2 (b) 121 cm2 (c) 196 cm2 

 (d) 144 cm2 (e) 256 cm2 
 

39. In a mixture the ratio of milk and water is 7 : 5. When 

56 litres of water is added to this mixture the ratio of 

milk and water in mixture becomes 7 : 3. Find the 

initial quantity of milk and water? 

 (a) 144 liters (b) 120 liters (c) 116 liters 

 (d) 140 liters (e) 160 liters 
 

40. A man invested Rs 8400 at the rate R% on SI for two 

years and gets a total interest of Rs. 2016. If he 

invested Rs. 600 more amount on half of the previous 

rate of interest for two years, then find the interest 

get by man? 

 (a) 960 Rs. (b) 840 Rs. (c) 1080 Rs. 

 (d) 1020 Rs. (e) 1040 Rs. 
 

Direction(41 – 45): Data given about total number of 

students visited three towns, read the data carefully and 

answer the question: 
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There are 400 students visited three towns A,B and C. Out 

of total students 20% visited only town A, students visited 

only town B are 15% less than that of students visited 

only town A. 18% of total students visited only town C. 

Student visited town both A & B but not C are 8 less than 

students visited only town B, students visited town B & C 
but not A are half the students visited town A & B but not 

C. Students visited A & C but not B are half the sum of 

students visited only Town B and only town C together, 

remaining students visited all the three towns. 
 

41. Find the total number of students visited at least two 

town? 

 (a) 180  (b) 106 (c) 160 

 (d) 140 (e) 120 
 

42. Total students visited town A is how much more than 

total students visited town C? 

 (a) 48 (b) 40 (c) 38 
 (d) 36 (e) 30 
 

43. Total students who visited all the three towns is what 

percent of total students visited town B & C but not A? 

 (a) 33 
1

3
% (b) 14 

2

7
% (c) 16 

2

3
% 

 (d) 66 
2

3
% (e) 60 

2

3
% 

 

44. Total students visited only town C is what percent 

less than total students visited only town A? 

 (a) 10% (b) 12% (c) 15% 

 (d) 8% (e) 18% 
 

45. Find the ratio between total students visited only 

town B & only town C together to students visited 
only town A? 

 (a) 4 : 5 (b) 7 : 4 (c) 7 : 2 

 (d) 7 : 5 (e) 7 : 3 
 

Direction (46 – 50): What will approximate value come 

at the place of question mark: 
 

46. 
11.98 ×15.89 + ∛215.98

√288.98
 - 

?

51.98 ×2 −52.98
 = 0 

 (a) 485 (b) 459 (c) 559 

 (d) 594 (e) 694 
 

47. 12.98 % of 399.98 + √? =
1.98

2.93
 of 125.98 

 (a) 1024 (b) 1296 (c) 961 
 (d) 900 (e) 848 

48. 567.93 + 455.97 - ? = (27.98)2 

 (a) 120 (b) 180 (c) 160 

 (d) 220 (e) 240 
 

49. 124.99 ×
√?
3

24.99
 + 6.02 × 8.98 = (7.99)2 

 (a) 6 (b) 8 (c) 4 

 (d) 5 (e) 7 
 

50. √?+ 135.98 =
4.98

7.89
 of 319.98 

 (a) 3025 (b) 2205 (c) 4096 

 (d) 4098 (e) 4047 
 

51. A boat travels110 km downstream and come back 

upstream in total 32 hours, if speed of stream is 

62.5% less than speed of boat in still water then find 

the speed of stream? 

 (a) 5 km/hr (b) 3 km/hr (c) 7 km/hr 

 (d) 8 km/hr (e) 10 km/hr 
 

52. A and B invested total Rs. 20,000 and start a business. 

If ‘B’ gets total profit of Rs. 4500 and ratio between 

profit share of B and total profit is 9 : 16, then find 

amount invested by A if both A and B invested for 

same time period? 

 (a) 8250 Rs. (b) 8060 Rs. (c) 8450 Rs. 

 (d) 8560 Rs. (e) 8750 Rs. 

53. A 120 meters long train cross a pole in 4.8 sec, then 

find in what time train will cross a platform, whose 

length is three times of the length of the train? 

 (a) 19.2 sec (b) 18.6 sec (c) 12.8 sec 

 (d) 20.4 sec (e) 26.8 sec 
 

54. Four years ago, Tina is 18 years younger than Ruchi. If 

present total age of Ruchi and Tina is 50 years, then 

find the ratio between present age of Tina to present 

age of Ruchi? 

 (a) 9 : 17 (b) 17 : 8  (c) 17 : 9 

 (d) 6 : 17 (e) 8 : 17 
 

55. A shopkeeper marked up an article 40% above its 

cost price and gave two successive discounts of 25% 

and 10% respectively. If he made a loss of Rs. 352, 

then find the cost price of the article? 

 (a) 5600 Rs. (b) 5000 Rs. (c) 6400 Rs. 

 (d) 6800 Rs. (e) 7200 Rs. 
 

. 
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,,Directions(56 – 60): Given below bar graph shows total number of books sold by six book stores P, Q, R, S, T and U on 
15 April 2015. Read the data carefully and answer the question: 

 
 

56. If ratio between books sold by store R on 15 April, 
2015 and on 15 May, 2015 is 15 : 21. 75% of total 
books sold on 15 May, 2015 are comic books, then 
find total books sold on 15 May,2015 which are not 
comic books? 

 (a) 36 (b) 42 (c) 48 
 (d) 52 (e) 56 
 

57. Total books sold by store T on 15 April, 2015 is what 
percent more than total books sold by store U on 15 
April, 2015? 

 (a) 80% (b) 60% (c) 40% 
 (d) 70% (e) 80% 
 

58. Find difference between average number of books 
sold by store R & S on 15 April, 2015 and average 
number of books sold by store Q & U on 15 April, 
2015? 

 (a) 40 (b) 25 (c) 35 
 (d) 56 (e) 60 
 

59. Total books sold by store R on 15 April,2015 is what 
percent less than total book sold by store T on 15 
April, 2015? 

 (a) 22 
1

3
% (b) 20 

1

3
% (c) 25 

1

3
% 

 (d) 28 
1

3
% (e) 33 

1

3
% 

 

60. Total books sold by store T on 15 May, 2015 are 20% 
more than total books sold by same store on 15 April, 
2015, then find total number of books sold by T on 15 
May, 2015? 

 (a)332 (b) 216 (c) 244 
 (d) 264 (e) 316 
 

Direction(61 – 70) : What will come at the place of 
question mark: 

61. 40% of 50% of 60% of 1200 = ? + 53 

 (a) 21 (b) 23  (c) 24 
 (d) 19 (e) 27 
 

62. (12)2 + (15)2 + ? % of 200 = (22)2 - 5 
 (a) 55 (b) 45 (c) 35  
 (d) 30 (e) 65 
63. 145 % of 180 + ? % of 320 = 741  
 (a) 180 (b) 130 (c) 120 
 (d) 140 (e) 150 
 

64. 46 ÷ 162 × √16 = ? 
 (a) 56 (b) 60 (c) 64 
 (d) 72 (e) 68 
 

65. (√529 − √289) × 12 = 136 − ?2 

 (a) 8 (b) 10 (c) 12 
 (d) 16 (e) 20 
 

66. 45% of 160 + ? % of 180 = 19 % of 900 
 (a) 50 (b) 55 (c) 65 
 (d) 45 (e) 35 
 

67. 13 
2

3
− 7

1

4
= ? +1

1

2
 

 (a) 5 
11

12
 (b) 7 

11

12
 (c) 4 

11

12
 

 (d) 9 
11

12
 (e) 11 

11

12
 

 

𝟔𝟖.  
 18×11+232.5

17×9−30 
 = ? 

 (a) 2.4 (b) 4.5 (c) 2.5 
 (d) 3.5 (e) 6.5 
 

69. 8.4% of 300 + 4. 8% of ? = 102 
 (a) 1200 (b) 800 (c) 600 
 (d) 1800 (e) 1600 
 

70. 734 + ? = 12.8 × 64 
 (a) 80.2 (b) 85.2 (c) 84.8 
 (d) 89.5 (e) 78.2 
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Directions (71-75): In the question given below, some 
sentences/phrases are given out of which one maybe or 
may not be grammatically correct. Find the grammatically 
correct sentence/phrase out of the given options. If all of 
the given sentences/phrases are correct, mark option (e) 
i.e. “All are correct” as your answer. 
 

71. (a) Do I knows you? 
 (b) He gets tough at times. 
 (c) You must has acknowledged. 
 (d) We didn’t knew. 
 (e) All are correct 
 

72. (a) Do you know what time it is in Boston? 
 (b) Won't somebody please help me? 
 (c) I quit a long time ago. 
 (d) I had to work hard when I was young. 
 (e) All are correct 
 

73. (a) She agreed in him that I should go to the meeting. 
 (b) To tell the truth, I used to smoking two packs a 

day. 
 (c)  We agrees to leave soon. 
 (d)  I hope my last mail didn't sound too harsh. 
 (e)  All are correct 
 

74. (a) Neither her friends nor Mary were in a talkative 
mood. 

 (b) None of the story he tells is true. 
 (c) He is a cut above the average college student. 
 (d) I don't wanted to play this game anymore. 
 (e) All are correct 
75. (a) Two against one is not a fair fight. 
 (b) She accepts criticism from anyone but her 

parents. 
 (c) Lend him as much money as he needs. 
 (d) Do you think I should go alone? 
 (e) All are correct 
 

Directions (76 – 80): Read the following passage 
carefully and answer the questions given below them. 
Certain words/phrases have been printed in bold to help 
you locate them while answering some of the questions. 
Global and transnational processes and practices have 
been observed to influence and impact various aspects of 
contemporary education within many geographical 
contexts, and thus the fields of research related to 
education and globalization are vast: they are not 
contained simply within one field or subfield, but can be 
seen to cross sub-disciplinary borders, in policy studies, 
curriculum, pedagogy, higher education studies, 
assessment, and more.  
As mentioned previously, modern education can itself be 
seen as one most basic instance of globalization, 
connected to increased interdependency of communities 

around the world in economic and political affairs first 
associated with imperialism and colonialism, and more 
recently with the capitalist world economy. And as the 
modern educational system cannot be seen as removed or 
sealed off from cultural and political-economic processes 
involved in most conceptualizations of globalization, the 
impacts of globalization processes upon education are 
often considered wide-ranging, though many are also 
controversial. 
Major trends: From a functionalist perspective, the 
globalization of educational systems has been influenced 
by new demands and desires for educational 
transferability, of students and educators. In place of 
dichotomous systems in terms of academic levels and 
credentialing, curriculum, and assessment, increasing 
convergence can be observed today, as it is recognized 
that standardization makes movement of people in 
education across societies more readily feasible, and that 
such movement of people can __________ education in a 
number of ways (to achieve diversity, to increase 
specialization and the promotion of dedicated research 
centers, to enhance global employability, and so on). Thus, 
the mobility and paths of movement of students and 
academics, for education and better life opportunities, 
have been a rapidly expanding area of research.  
 

76. Which of the following words is similar in meaning to 
associated? 

 (a) chisel  (b) innate (c) equivocal 
 (d) eclectic (e) None of these 
 

77. Choose the word that appropriately fits in blank given 
in the passage.  

 (a) distinct (b) channelize (c) create 
 (d) enhance (e) influence 
 

78. Which of the following is the most appropriate title of 
the passage? 

 (a) Aspects of contemporary education 
 (b) Political affairs affecting education 
 (c) Modern Education 
 (d) Globalization’s Impact on Education 
 (e) Achieving diversity among nations 
 

79. Which of the following sentences is in accordance 
with the theme of the passage? 

 (a) Globalization is understood as a process or 
condition of contemporary human life, at the 
broadest level, rather than a single event or 
activity. 

 (b) Globalization in education cannot be merely 
described as harmful or beneficial, but depends 
on one’s position, perspective, values, and 
priorities.  

 (c) Global citizenship education has been conceived 

by political theorists and educational 

philosophers. 
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 (d) Education held by scholars and political leaders is 
a key to enhance the modern human condition. 

 (e) Globalization as a contemporary condition or 
process clearly shapes education around the 
globe, in terms of policies and values. 

 

80. According to the passage, in what way the education 
field is vast? 

 (a) As it is not confined to any geographical region. 
 (b) as the impact of globalization on education is 

wide ranging.  
 (c) As it has various aspects that increase the 

dependency on other communities of the world. 
 (d) both (a) and (b) 
 (e) All of the above. 
 

Directions (81–85): Each of the sentences given below 
contains a blank. Identify the most suitable alternative 
among the five given that fits into the blank to make the 
sentence logical and meaningful. 
 

81. All this at the time seemed merely strange to Pierre: 
he felt he could not _____________its significance. 

 (a) appreciate (b) hold on (c) encrypt 
 (d) grasp (e) overlook 
 

82. History bears several instances of how ambitions of 
individuals have ruined countries and brought untold 
______________to the people. 

 (a) joys (b) injuries (c) miseries 
 (d) comforts (e) heartaches 
83. Labour ______________ is not just good for those on the 

move but it also has a positive effect on the economy. 
 (a) mobility (b) constancy (c) durabilty 
 (d) adaptability (e) resilience 
 

84. Sometimes it is not only a book but the book read 
with an ________________review of it that gives us an 
understanding of a reality. 

 (a) alert (b) insightful (c) rational 
 (d) artful (e) obtuse 
 

85. An _________________ link exists between democracy and 
public freedom. 

 (a) determinable (b) avoidable  
 (c) inextricable (d) involved 
 (e) elaborated 
 

Directions (86–90): In the questions given below, there 
is a sentence in which one part is given in bold. The part 
given in bold may or may not be grammatically correct. 
Choose the best alternative among the four given which 
can replace the part in bold to make the sentence 
grammatically correct. If the part given in bold is already 
correct and does not require any replacement, choose 
option (e), i.e. “No replacement required” as your answer. 
 

86. Despite of the government's protecting, he was the 
victim of an assassination attempt which killed him.  

 (a) Despite being the government’s protecting 
 (b) Despite being the government’s protection 
 (c) Despite the government’s protection 
 (d) Despite of the government’s protection 
 (e) No replacement required 
 

87. They feared to spare him lest he would report the 
matter to the king. 

 (a) lest he would not report 
 (b) lest he should report 
 (c) lest he will report 
 (d) lest he shall report 
 (e) no replacement required 
 

88. As soon as he finished reading the collect letter, than 
he flew into a rage and tore it into pieces. 

 (a) than he flown into a rage 
 (b) then he flown into a rage 
 (c) then he flew into a rage 
 (d) he flew into a rage 
 (e) no replacement required 
 

89. This is perhaps the same car which ran her over 
while she was returning from school. 

 (a) that ran her over while she was 
 (b) which run her over while she was 
 (c) which run her over when she was 
 (d) that running her over while she was 
 (e) no replacement required 
 

90. If you will set your mind to a goal, you will 
eventually achieve it. 

 (a) would set your mind 
 (b) shall set your mind 
 (c) set your mind  
 (d) should set your mind 
 (e) no replacement required 
 

Directions (91–94): Rearrange the following six 
sentences (A), (B), (C), (D), (E) and (F) in the proper 
sequence to form a meaningful paragraph then answer 
the questions given below them. 
(A) The cow made a request to the tiger, “I have got a calf 

at home and the calf is very hungry.” 
(B) The tiger was convinced with her plea and allowed 

her to return to the village. 
(C) All the cows became scared and started running 

towards the village, but one cow was left behind. 
(D) The cow said to the tiger, “I will come back after 

giving my milk to the calf. I promise.” 
(E) Some cows were grazing in a forest. A tiger pounced 

upon them. 
(F) “It is impossible. Because if I leave you now, you will 

not come back” said the tiger. 
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91. Which of the following will be the SECOND sentence 
after rearrangement? 

 (a) A (b) B (c) C 
 (d) D (e) E 
 

92. Which of the following will be the FOURTH sentence 
after rearrangement? 

 (a) A (b) D (c) C 
 (d) F (e) E 
 

93. Which of the following will be the THIRD sentence 
after rearrangement? 

 (a) A (b) B (c) F 
 (d) D (e) C 
 

94. Which of the following will be the SIXTH (LAST) 
sentence after rearrangement? 

 (a) A (b) B (c) D 
 (d) F (e) E 
 

Directions (95 – 100): In each question below some 
sentences/phrases are given which are named A, B, C, D 
and E. Rearrange the given five sentences/phrases to 
make a coherent sentence/paragraph. The rearranged 
sequence of the sentences/phrases will be your answer. If 
after rearrangement, no option matches, and option (e) 
i.e. “None of these” is given, mark it as answer. 
 

95. (A) Speaking French 
 (B) a native speaker 
 (C) who hear Tom 
 (D) many people 
 (E) think he is 
 (a) DCBAE (b) DCEAB (c) DABCE 
 (d) DCAEB (e) None of these 
 

96. (A) That Spanish is 
 (B) one of the most 
 (C) some people say 
 (D) in the world 
 (E) beautiful languages 
 (a) EDABC (b) BDACE (c) CABED 
 (d) CBEDA (e) None of these 
 

97. (A) Go to Boston 

 (B) Jack could not 

 (C) enough money 

 (D) with us because 

 (E) he didn't have 

 (a) BACED (b) BAEDC (c) BCADE 

 (d) BADEC (e) None of these 
 

98. (A) Sean had to 

 (B) pumped because 

 (C) he had accidentally 

 (D) have his stomach 

 (E) eaten some rat poison 

 (a) AECBD (b) ADBCE (c) ABCDE 

 (d) ADEBC (e) None of these 
 

99. (A) Graduated from our 

 (B) English with a native speaker 

 (C) university has studied 

 (D) for at least two years 

 (E) every student who has 

 (a) DECAB (b) EBCAD (c) EACBD 

 (d) EADCB (e) None of these 
 

100. (A) About how he 

 (B) telling Mary the story 

 (C) being eaten by cannibals 

 (D) Michael remembers 

 (E) had escaped from 

 (a) AEBDC (b) DBAEC (c) DCAEB 

 (d) ACEDB (e) None of these 
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